pronikani molekul rozpoustédia z méné
koncentrovaného roztoku do roztoku
koncentrovanéjsiho

outcome /'aut,kam/ vysledek, vysledek
Ceho, jak véc dopadne, zavér

palliative /'pzel.i.a.tv/ paliativni, uti$ujici,
bolest zmiriujici

peers /piarz/ vrstevnici

permissible /pa'mis.a.bl/ pfipustny,
dovoleny

permit /pa‘'mit/ povolit, dovolit

pooling /pu:l.in/ nahromadéni krve nebo
jiné tekutiny, nahromadéni krve je
nasledkem dilatace a zastaveni ob&hu v
kapildrach a Zilich v oblasti

possession /pa'zef.an/ majetek, vlastnictvi
posttraumatic / paust.tror maet.xk/
posttraumaticky, potirazovy

precede /pr1'sizd/ pfedchdzet ¢asové
preserve /prr'z3iv/ zachovat, uchovat
rape /rerp/ znasilnit, znasilnéni
reasonable /'riz.zan.a.bl / pfijatelny,
rozumny

refusal /ri'fjurzal/ odmitnuti

regional /'riz.dzan.al/ regionalni, tykajici se
dané oblasti

right /rait/ pravo

scope /skaup/ rozsah

solvent /'spl.vant/ fedidlo, rozpoust&dlo
spouse /spaus/ chot, manzel/ka
standing /staznd.1n/ order /'>:da/ trvaly
prikaz

statute /'staetjurt/ zakon, pfedpis

steady /'sted.i/ stély

survivor /sa'var.ver/ pfeZivii, pozistaly
take /terk/ time /tarm/ trvat, vénovat ¢as
turn out /'ta:n,aut/ zahnout ven, naruby,
projevit se

upgrade /Ap'greid/ zlepsit, stoupnout,
zvyseni

valid /'vaelzd/ platny, opravnény
vent /vent/ ventilovat, otvor, priduch
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You are called for a 55-year-old man w

. Initial management of this patien
airway should include. - Insertion of an
oropharyngeal airway and ventilation wit
bag-valve mask. *

An apnoeic and pulse less patient is
unlikely to have an intact gag reflex,
_____________ an OPA to help control th
_____________ A BVM will need at least 10
Lpm of oxygen flow in order to adequatel
_________ the patient during ventilations.

OXygenate, apnoeic and pulse less, upper
airway, necessitating

2
You respond to a college fraternity wher
you encounter a 19-year-old male with
partially obstructed airway. According to
witnesses, he was eating pizza and
drinking beer when he beganto _____ __
———_ his throat. The patient is able to spea
ina only, and he has been
coughing repeatedly for about 20 minutes
* . What is the best treatment for this
patient? - Remove the
forceps.*
A conscious patient with a partial
obstructed airway should be dealt with by
and continuous
monitoring of patient status. Interventions
like Heimlich manoeuvre are considered
counterproductive, as they may actually
______ the obstruction.

To perform a needle cricothyrotomy,
you should place the patient; supine with
head and neck hyperextended.*




